1.)   Find the value of a
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a.   n = 3 and a
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b.   n = 3 and a
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 = 2 (n - 3)
2.)  Find the value of:
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3.)  Find the value of the following expression:
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4.)  Find the value of:
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5.)  Find the value of a
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if:

n = 2, a
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= 4, and a
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6.)  What is the sum of the first 15 terms in the geometric sequence 2, 4, 8 …?
7.)  What is the sum of the first 50 natural numbers? 
8.)  If a
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= 4 and r = 2, what are the first four terms of the geometric sequence?
9.)  If a
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= 4 and d = - 2, what are the first four terms of the arithmetic sequence?

10.)  More and more television commercial time is devoted to drug companies as hucksters for the benefits and risks of their wares. The bar graph shows the amount that drug companies spent on consumer drug ads, in billions of dollars, from 2002 through 2006.
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Let a
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represent spending for consumer drug ads, in billions of dollars, n years after 2001.
a.    Use the numbers given in the graph to find and interpret 
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b.    The finite sequence whose general term is

a
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 = 0.65n + 2.3,

where n = 1, 2, 3, 4, 5, models spending for consumer drug ads, in billions of dollars, n years after 2001. Use the model to find 
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ai·  Does this seem reasonable in terms of the actual sum in part (a), or has model breakdown occurred? 

11.)
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In 1968, 17.6% of high school grades for college freshmen consisted of A’s (A+, A, or A-) On average this has increased by approximately 0.83% per year.
a.     Write a formula for the nth term of the arithmetic sequence that models the percentage of high school grades of A for college freshmen n years after 1967.

b.    If trends shown by the model in part (a) continue, what percentage of high school grades for college freshmen will consist of A’s in 2018?

12.)  A theater has 30 seats in the first row, 32 seats in the second row, increasing by two seats per row for a total of 26 rows. How many seats left in the theater?
13.)  
	YEAR
	2003
	2004
	2005
	2006

	Population in

Millions
	22.12
	22.49
	22.86
	23.41


In question 17. You will develop geometric sequences that model the population growth for Texas, the most populated state.
a.    Divide the population for each year by the population in the preceding year. Round to two decimal places and show that Texas has a population increase that is approximately geometric.

b.    Write the general term of the geometric sequence modeling Texas’s population, in millions, n years after 2002.
c.    Use your model from part (b) to project Texas’s population, in  millions, for the year 2010. Round to two decimal places.
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